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1 dlxnf :jf:Yo ;]ljsfx?sf] sfd x]/L k|lt dlxgf k|f]T;fxg :j?k ?= !%)) b/n]] lbg] /sd 648

2 -cWoIf_

3 ;j} :jf:Yo rf}sLx?nfO{ cf}ifwL vl/b ul/ ljt/0f ug{ 1500

4 :jf:Yo lzlj/ ;+rfngsf] nflu 500

5 dlxnf :jf:Yo :jo+;]ljsfx?nfO{ :jf:Yo ;DjGwL Ifdtf clej[l4 tflnd 200

6 -pkfWoIf_

7 dlxnf :jf:Yo :jo+;]ljsfx?nfO{ 6r{, 5ftf, /]gsf]6 / Aofu ljt/0f ug{ 150

8 k|;f}gL ufpFdf :jf:Yo lslNgs ;+rfng / yk sd{rf/L Joj:yfkgsf] nflu 220

9 k|;f}gLdf ufpF 3/ :jf:Yo lslNgs ;+rfngsf] nflu cf}iflw vl/b 500

10 ufpF3/ lslNgs k|;f}gLdf ;+rfngfy{ >L g]=/f=k|f=lj= sf] k'/fg]f sf]7fdf dd{t ;Def/ ug{ 280

11 3998

       :jf:Yo tkm{sf of]hgfx?


